Modeling of chlorine
decay kinetics in
water supply networks




First steps: Laboratory measurements from on-site sampling

and model pipeline
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Modelling tools
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Sediments settling
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Sediment formation rate
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Resuspension
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Putting all together
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Simulation of sediment formation
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Simulation results for resuspension

Color Coding Legend
Pipe: CMLSSlebego (mg/L)
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Decay of chlorine if settled sediment is present

KIor fajlagos fogyasa liledék mennyiség fliggvényében
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Decay of chlorine by disolved Fe

Effect of Fe presence on chlorine
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Decay of chlorine by Fe presence, solving the differential equation
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Decay of chlorine by Mn

Klor fogyasa a mangan ¢és kezdeti koncentraciok
fiiggvényében
0,05
0,00 RO
| f h:;‘;.u g&%,{}v% X

-0,05 AT —
= \ w.
5 -0,10 - — :
é; s % “x Ve X  mangan
go _0,15 "ll O.Smgfl
Iy 1
-5 -0,20 ' X mangan
S 0,25 X X 0.05mg/1
o

-0,30 X  mangan

_0,35 — 5 0.005 mg,fl

-0,40

0 0.5 1 1,5
pillanatnyi C1 fmng/1]
acl

——[6ra]l = a; +a; * 3as*(Cltax(Cl=Clo)*as) 4 q¢ x Cly + a; * Cl

I R R SR P I
m -7.08 1.55 14.21 -3.28 0.055 -0.072



Decay of chlorine by Mn presence, solving the differential equation

Differencialegyenlet megoldas 6sszehasonlitdsa mérési eredményekkel
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Decay of chlorine by Ammonium presence

05 Klor fogyas és kilevegbztetés hatasa
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Decay of chlorine by Ammonium presence

02 Kl6r fogydsa az ammonium fliggvényében, leveglztetést
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Decay of chlorine by Ammonium presence, solving
the differential equation

Differencidlegyenlet megoldas 6sszehasonlitasa kileveg&ztetés+ammadnium fogyassal szamolva
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